
Math 4b. Class work 11.  

1. Draw a quadrilaterals, by coordinate, do the necessary measurements and 

find the types of these quadrilaterals: 

a. A (–4; 0), B (0; 6), C (3; 4), D (–1; –2); 

b. A (1; 4), B (4; 0), C (0; –3), D (–3; 1); 

c. A (–6; 1), B (0; 3), C (2; 0), D (–4; –2); 

d. A (3; 0), B (0; –2), C (–4; 0), D (2; 4). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Mark the points on the picture by coordinates:  

 

A1 (2, 0), A2 (2, 10), A3 (4, 12), A4 (12, 12), A5 (18, 14), 

A6 (18, 16), A7(20, 14), A8 (22, 14), A9 (24, 12), A10 (24, 

14), A11 (25, 12),  A12 (26, 12),  A13 (26, 14),  A14 (28, 

12), A15 (28, 10), A16 (24, 8), A17 (22, 8), A18 (18, 6), A19 

(18, 0), A20 (14, 0), A21 (14, 4), A22 (6, 4), A23 (6, 0), A1 

(2, 0), A25 (21, 12) 

 
A1 



 

3. Mark the points by coordinates, connect the points 

on order they are arranged, see what you got! 

(2,12), (2,13), (3,13.5), (4,13.5), (5,13), (3,4),  (8,4), 

(6,1), (3,1), (2,2), (2,4), (4,11), (4,12.5),  (3.5,12.5), 

(2,11), (2,12), (3,12), (3,3), (4,2), (6,2), (3,3), eye: 

(2
1

2
,   12

1

2
) 

 

 

 

 

 

 

 

 

 

 

 

 

 

Find the coordinates of the pints A, B, C, D, E and F. 

 

 

 

 

 

Earth coordinate system:  

Earth coordinate system: A geographic coordinate system uses a three-dimensional spherical surface to 

determine locations on the earth. Any location on earth can be referenced by a point with longitude and 

latitude coordinates. The values for the points can have 

the following units of measurement: 

o Decimal degrees 

o Decimal minutes 

o Decimal seconds 

 

 

For example, the following figure shows a 

geographic coordinate system where a location is 

represented by the coordinates longitude 80 degree 

East and latitude 55 degree North 



 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Exercises:  
1. Evaluate: 

1

1 ∙ 2
+

1

2 ∙ 3
+

1

3 ∙ 4
+

3

4 ∙ 5
+

1

5 ∙ 6
+

3

6 ∙ 7
+

1

7 ∙ 8
+

3

8 ∙ 9
+

1

9 ∙ 10
; 

 
2. A mother left a plate of plums for her three sons and went to work. The youngest son came home from 

school first. Seeing the plums on the plate, he ate a third of them and went for a walk. The middle son 

came next. Thinking that his brothers hadn't eaten the plums, he ate a third of what was on the plate and 

also went for a walk. The eldest son came last and ate 4 plums - a third of the plums he saw on the plate. 

How many plums were there at the beginning? 

 

3. Find the number if  
2

3
 of it is equal to the number,  

5

6 
 of which is 25. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


